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O [~—] p192 VR A v+ [Dim &F—#%8] REIEHRERS
[ 2] AbLEXFEE Ho=B Ry MIoTns
(32) — 2,147,483,648 ~ 2, 147.483, 647 (IE) - 2,147,483,648 ~ 2,147,483, 647
T T

@ [~~—2] p303
[ 2] % Ed1l O, L Uho ZOhE

(32) Ed1 = DateSerial (Left (Me! EHEIR, 4),CIntRight Me!FERAFEIR, 2)+1), 1) -1

(IE) Ed1 = DateSerial (Left (Me!ZEH3&R, 4),CIntRight Me!ERER, 2))+1, 1) -1
T

p307 35 1TH. p315 15 1TH BIARIZ, PAUD > ZONLED LD £,

® [~+—] p31611 FFHD L
[BE =] 23 g1, g2, g8 OESFIDRW

(GEfn)  Dim gl As Long, g2 As Long, g3 As Long

@ [~~—] p305
[ 2] A2 T138 A1 LT brenk o, o 280

rs41 &5t 2 = CInt (Right Me! E &R, 2)) + 1
rs4!&5t 3 = CInt (Right Me! FEHEIR, 2)) + 2

£

If (CInt(Right(Me!&E HE4R,2)) + 1) Mod 12 = 0 Then

rs4! &5t 2 = 12
Else

rs4!8512 = (CIntRightMe! ERZEIR, 2)) + 1) Mod 12
End If
If (CIntRightMe!ZFEAZEIR, 2)) + 2) Mod 12 = 0 Then

rs4! &5t 3 = 12
Else

rsd! &5t 3 = (CIntRight (Me! FEAEIR, 2)) + 2) Mod 12
End If
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® [~~~ p282 UARA b
[HE 2] )9 EiSInt B3 — IntGZE +0.9)
RO Int BIEAEAENL. /INEUSER A0 BT TGRS ORI T A A BE L TWET,

(f5) Int (1.05 + 0.9) — 1
Int(0.48 + 0.9) — 1

EFD Int BE OB CIE, il OGS LR E r DEA0.09 728, 0.1 K0/hEW), BExnEric
720 F9,

(f5) Int (0.08 + 0.9) — 0

AKXPOT 0 — ¥ OEEIZITEEEITH D A, —RIREIVET, 810 L, WEIADLY J57
ELTHRW U ARA  FAD Int BIEOMH TN R EHATLE,

G0 B, GI0 T, WA ZAT 5 Baid. AR T TRBEZAT 5 2B LT Nz Ek
THEITLTLIEE N,

ELES FEEO LD, TRITLET,

B INBEE AL TE Y BT 720G
b LT HEE 10 5L OMUROMELZTH L, 0.9 22 LT i, &ZlZ 10 THS

(f51) Int ((0.08 = 10) + 0.9) /10 — 0. 1

@ 0.08 |2 10 ZHF T 0.8
@ WY EF7=nwoT, 0.9 R L7-%, Int B T/NOELITZ28 0 #T5
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